
January 20, 2021

Give me 5!
You have 5 minutes to answer these 5 questions. 

In the back of your journal, write the date. 

Try your best and show all of your working out (making sure 
your final answer is clear).

If you finish, check your working.

Can you beat your best score? 
Can you beat your best time?
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Give me 5!
1. 294 + 2847 = 3141

2. 5948 - 1039 = 4909

3. 32 ÷ 8 = 4

4. 700 x 8 = 5600

5. 29 x 3 = 87
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How will what we already know help us to calculate the quotient? 

What do we already know from the problem? 
What is the problem asking us to find out? 

Is this a grouping or sharing problem? 
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ANSWERS
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Alex is correct. 37 divided by 4 is 9 sweets with one left over. Mo 
is describing how many sweets each child gets. Eva has given 
the whole answer and not just what is left over. Jack has made a 
mistake in his calculation.

A variety of 
answers are 
possible. Ask an 
adult to chaeck 
the answers you 
have chosen.


